


O A x2 — x +4 =09 T F51H?

+ V3 @ x=1=+ V15

. @leix/ﬁi
9

® x

-1+ V15i



3. HEA|x-1+x-2<32=H?

D -1<x<4 @ -1<x<?2 ®0<x<l1

@ 0<x<?2 ®» 0<x<3



DO x<-3FE+=x>2
@ x<-1E=x>4

@ x<13:_%x>6

3]—031 OIX]_H ‘:/U X +x— 6>0% %Eﬂ?

@ x<-2EE=x>3

@ x<0EE=x>5






6. AMAAI:y=-2x+3m:4x-2y+1=0,n:x-2y+3 =009
tfoto] oh-5 B & &2 A7

[17]
H7]

@ Ul)/m © mdln © IL1n

ONQ) @ © ® ©
® .0 ® O.0.0



2 e

H =Y

2 of

x4 y?=2y-3=0

]

@ FAol (0, 1) °]aL, HFA[Fo] 1 ¢

]

o124

@ FA4ol (0, -1) ©]aL §H7]



12717} =209, A 1,2, 4 A
@ y=-2x+5
@ y=-2x-5

=] [e)
petiies

At






10. ox}9t y = x? — 2ax — 2b* —da+4b— 6 2] T L7} xFof 3
2

20] 27 (&, a, b %)

@ 5 3 8 @ 10 ® 13

St
=

o,



3 100

® 21 3 25 @ 81

D 11



12. 15770 g o gre pere
x2+y*=5



13.

@ 3



14. o 299 5 9090 o4 TEWHA
o] Zolg Ftofet.

e =
c



15.

A 4y2 =4 AM y = 20k 7F AR THE Aol A ahd ), &
of 2ol W97

@D -2vV5 <k <245 ® -3v5<k<35
® -4V5<k<4+5 @D k<-VEEEk> B
G k<-2Vv5 E=%>25



© zZz>0

@ 22+7220

olct.

<
73

)

Ine

ORONE ® 96

® 90
@ ©, ®

@ @’ @)@



7 = —z = UWF=E351= S =
7=-75 %% zofl diotd w = z+1

Fatelet. (@2 ¢ o] FeEagol))

-1

olet & o, ww 9] gt



18. WA 2 -2 -3 =09] 29 & Fafolet,

v
o



19.

g IHO A T xy+x-2y-2=32
WEATE AL mE W A

@ o 7R @ 17 @ 271
@ 374 ® 4 7H

YA
Sr-¢-¢-¢-9-¢
I
AF-%-¢-¢-9-9
I
sLbbobobob
of b bbb
I | I I |
IF-¢-¢-o-¢-o
I | I I ! -
Ol 1 2345z



20. OIAFLAA 2 —mx+4 =029 F 2 AtoJof 1 o] YEZ SH= A
m 2] Zke] W92

@ m<-5 @ m> -2 ® —2<m<?2

@ m>2 ® m>5



(3,

2), B(6, 5)°l thste] 2AP = BP & W£A7]&= H& P

APt A x+y+3=0A]o] Ao HEg2?

@ 3 ® 242 @ 243 ® 342



22. o3 I37 2ol AB = 12cm, AC = 6em 1 JZM42ZHE ABC 9
# 9Jo) A P & Fol JAtztyg EADP & eSS 1, o] %
o7t 16cm? o]t o] of, AD 2] Zdo]& L5}H?
)

C
/
6cm
\ p
\\—| 16cm? B
ASs--z---D _--

D 7em ® 8cm 3 9cm @ 10cm ® 1llcm



23.

y=—x*+2x+5 9 T o} x FOo= A =
gt Ho] x & floll &= AAAPE TS o, o] AAAR €]

lo]o] Zoigte Fohoi=t.



24. the I o] A o] oz ool £l gtk AB
2017} sem o] AAGH 21| Yol7} yrem? & W, y o HAZHS

Fahelat,




25.

AP A] x4+ 5x3 — 4 + 5x+1 = 09] T A2

D =5

® -6

3 0

@ 5

e T



